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BEAE N)TFT12 FTEUHIPRE : PAR x 2
HDCPERR:  (55) 36.0 (%) 36.0 fBEIRtz: 1 HDCP
I3 Ld-: 2 5% AH
* % %k k% % * % % % * % 3
WTO@R@EE®D®® INWHODB@®GI®IDI® 4
&= [A1$ 1 81— /L&)
[=fiva B EA [Sigc ouT IN GROSS| HDCP | NET
B B L3 41 41 82| 12.0/ 70.0/AE
EEH £E B 37 37 74 3.6/ 70.4 AE
M (A RE 42 38 80| 9.6 70.4 AE
Ay ¥y L 36 45 81| 9.6 71.4 AE
i Bk &EER 37 37 74 2.4 71.6BG AE
6hL | RF¥T BH 41 39 80| 8.4 T71.6 AE
M |FRE 36 43 79 1.20 1.8 AE
8 |HkRE = 41 38 9 1.20 1.8 AE
M FxF 1B 41 36 17 4.8) 712.2 A&
1061 | FAX &= 49 52 101 28.8| 72.2| A&
11461 |RER EH 37 39 76 3.6 72.4
1261 |[h%F Bk 42 46 88/ 15.6/ 72.4
1361 fngk #5A 39 42 81 8.4) 72.6
1441 H%“J‘ﬁ i) 45 43 44 87 14.4) 72.6
1561 |[== #F05h 46 47 93| 20.4) 72.6
166 |{ERK ZEF 37 37 741 1.2) 72.8
1761 |E%¥ BHX 40 40 80 7.2| 72.8
184z |dt BE—ER 39 41 80 7.2| 72.8
1961 |H%F FE 44 42 86 13.2| 72.8
20061 |EE4 44 42 86| 13.2) 72.8/k=E
216 BEH X& 39 40 791 6.0/ 73.0
2201 |BEh R 39 40 791 6.0/ 73.0
231 R EA 41 44 85 12.0/ 73.0
IVE SR 51 46 97/ 24.0/ 73.0
6 /B OSF 38 40 78| 4.8 73.2
2661 |J\FEiE KRX 42 42 84/ 10.8| 73.2
21461 | FTRE BT 50 40 90| 16.8 73.2
284 | ER FEI# 48 42 90| 16.8 73.2
2960 ‘M EE 45 44 89 15.6 73.4
304z |fmn¥N E=EF 53 48 101 27.6| 73.4|7RE
M |E4 41 41 82 8.4| 73.6
321 L HiE 45 43 88 14.4| 73.6
3L HEE BE 45 43 88 14.4| 73.6
M6 (fRt B 42 46 88 14.4| 73.6
bk WiE EX 43 45 88 14.4| 73.6
366z |EE 18 42 39 81 7.2| 73.8
3L |=K FRIE 42 45 87| 13.2| 73.8
8 | EH B— 43 44 87| 13.2| 73.8
3961 WA FE5h 42 38 80| 6.0/ 74.0
I AL RS Fﬁﬁh 44 42 86| 12.0/ 74.0/kRE
N4 | FHH 42 44 86| 12.0| 74.0
4250 B #T 44 42 86| 12.0| 74.0
B | EX BE 46 46 92| 18.0] 74.0
4441 |[EEB FHA 53 51 104| 30.0| 74.0
456 |[fHE EX 46 45 91| 16.8] 74.2
46 &AM HEB 41 37 78] 3.6| 74.4
A1 &k FRZ 43 47 90| 15.6| 74.4
B | AF F— 46 44 90| 15.6| 74.4
49461 F/IIl 48 48 96| 21.6| 74.4
504 dbll &®F 45 51 96| 21.6/ 74.4/7RE

P-1 B —YA4 KIJ)LT7a3—X




6=

EEERINIRBASKMXFERED

2025/08/29 (&) 17:11

2025 £ 8 A 29 B (&)

AR N7 12

ITERHIFE . PAR X 2

HDCPLEBR: (B8) 36.0 36.0 B%lEGfz: 1 HDCP
= Lf-): 2 £%EAH
*k k %k %k Xk %k %k %k X %k 3
UTD@B®@®BEED®® INDWRB@BH®M® 4
& [E13 1 8FK—ILEET)

[[:%iva BRER B ouT | IN GROSS| HDCP | NET
it [/ EfE 377 40 771 2.4] 14.6
5261 [#EHE FEiH i 2 83| 8.4 74.6
h3fr | Kfa Z# 0] M3 83| 8.4 74.6
bAfE | FRE R 45 44 89| 14.4] 74.6
556 |lUF ERHKF 4445 89| 14.4] 74.6
5601 |EE4 2] 46 88| 13.2] 74.8
576 | K# BX 40 4 81 6.0/ 75.0
581 |#ER B 421 39 81 6.0/ 75.0
50 (kAR —E Y 87| 12.0] 75.0
606 |5 EB 44 43 87| 12.0| 75.0/7kE
61 Bl JE— 2] 45 87| 12.0] 75.0
620 |EE FHA 45| 48 93] 18.0/ 75.0
635 |HIl HEE 53] 46 99| 24.0/ 75.0
64 EH —# 2 M 86 10.8] 75.2
65 BE Z£=F 4349 92| 16.8] 75.2
661 & R 47 51 98] 22.8] 75.2
6761 |HiF BX 52| 52 104 28.8] 75.2
6861 |Eilz SK 421 37 79| 3.6 75.4
691 |BAE A 40 45 85| 9.6 75.4
704 [R5l & 45| 46 91| 15.6) 75 4/7RE
i | ®KA 54 49 103 27.6] 75.4
1262 [ILK pHhY 40 44 84] 8.4 75.6
13 AR FE 45| 45 90| 14.4] 75.6
T4 EE EZ a2 83| 7.2 75.8
IRCET T 43 40 83| 7.2 15.8
166 [T Z— 43 46 89| 13.2] 75.8
7% B8R 47 48 95 19.2] 75.8
8 /M BR 43 52 95 19.2] 75.8
7961 |El BA YIRY 88/ 12.0 76.0
80 |B% FA AT 47 94| 18.0/ 76.0/RE
81t == mWE 49 51 100/ 24.0] 76.0
8211 |HH  miE 421 39 81| 4.8] 76.2
831 |#EF —=F 46] 41 87| 10.8] 76.2
84 | BRE #®= M 3 87| 10.8] 76.2
856 |AHE EE 49] 50 99| 22.8] 76.2
8661 |ATH EiE A 45 86/ 9.6 76.4
87 st ERTF AT 45 92| 15.6, 76.4
88 [ KH %= 57 47 104] 27.6] 76.4
896 (M Ef@ 2 13 85| 8.4 76.6
06 [FkIE 18 AT 44 91| 14.4| 76.6RE
o6 [#BX UVAH 51 46 97| 20.4] 76.6
921 |AH  EER A4 46 90| 13.2] 76.8
936 [FH FH— A4) 46 90| 13.2] 76.8
9461 [ILA FE A4) 46 90| 13.2] 76.8
%4 (8@ RAE| Y 90| 13.2] 76.8
9667 |delh HE AT 42 89/ 12.0] 77.0
o7 /K E=E 46 49 95/ 18.0/ 77.0
98 |E# 42| 53 95/ 18.0/ 77.0
9 B4 43| 45 88| 10.8] 77.2
1006 |[BF@ T 46] 48 94| 16.8) 77.27k&E
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HDCPLEBR: (B8) 36.0 36.0 B%lEGfz: 1 HDCP
= Lf-): 2 5% H8H
*k k %k %k Xk %k %k %k X %k 3
UTD@B®@®BEED®® INDWRB@BH®M® 4
& [E13 1 8FK—ILEET)

[[:%iva BRER B ouT | IN GROSS| HDCP | NET
10162 A £A 521 48 100 22.8] 77.2
10261 || E—ER 52| 46 98] 20.4] 77.6
1036 |'RE HEF 46| 45 91| 13.2] 77.8
10461 [48@ —1 44 51 95/ 16.8] 78.2
10561 [HH X 53] 48 101 22.8] 78.2
1066 |l {—%& 471 47 94| 15.6, 78.4
10767 |#E 1358 44 48 92/ 13.2] 78.8
1081 st F#k 53] 45 98/ 19.2] 78.8
10961 A& FIA 56| 54 110 31.2] 78.8
1106 |[RE HEl 58] 57 115] 36.0| 79.0/kE
i #% = 57 51 108 28.8] 79.2
11261 | AE 28 VARV 88| 8.4 79.6
13 RE % 46] 48 94] 14.4] 79.6
146 A —3F 48] 51 99/ 19.2] 79.8
11561 (B ¥ 47 51 98/ 18.0/ 80.0
11667 (& &R 52| 58 110 30.0] 80.0
N6 | £# BB 55| 55 110 30.0] 80.0
11861 ZFH FfT 50/ 53 103 22.8] 80.2
11967 [IEA HH 54 48 102] 21.6] 80.4
12062 JEA P& 48] 53 101] 20.4] 80.67RE
12160 8% FE 48] 52 100/ 19.2] 80.8
12261 |8k  FK 53] 52 105 22.8] 82.2
1236 |HR {Eth 50 54 104 21.6] 82.4
12461 | TEE KZ=ER 61| 59 120 36.0] 84.0/BB
12561 |ILI& EEA 63| 63 126/ 36.0] 90.0
X 5 |FH ME 0] 99.9 99.9
R 1B EE M5 0] 99.9 99.9
R 5 IZK BE 0/ 99.9] 99.9
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